ER-IERRREE-RR

556 A8 AT
ZEXEE LEEMSSEL

FFR P 2R X R
BET — R X FaER
HETHEEF O |FR= AmE
X7 (BKE) REMEEHEE |22
(EWKE) |LIEERSIEHEE 159
s b — SRt = s b & 1155 18=8.
Ll T %gﬁﬁ%{gg;& JEEINFRE=11.6, [REIIFEEI=24.1, KIF)I|5715=8.9,
oK - JLE)IRg=(7, 8.9), RIKJIIFIE=(8, 7.5)
FEREAIEK T i s
- T b ] fE £ 20m/s
RA FHEE ELE 23m/s
. fE 20m/s EFES
== iz 5
AR FHRE BL 23m/s BERS
RE [EE DRSS 1285 E D FES10cm
KR BEKS 3.0m
[k B 2.3m*?
PN REWEEHEE |9
TIERMEEHERE |108
s b — SRt = s b Nl
Tl T %g’;ﬁ%;;fg;& JENNFRE=9.2, IRA)IFE=19.2, KWF)IFEE=7.1,
N e JLENGRE=(5, 8), KIE)IFRi%=(5, 6.8), BA%E)IIFRiZ=(5, 5.7),
kK mage KNG 745 "
FEREA KT s s
e RAEN (522
T 4 B fE L 13m/s
B FHRE B 16m/s
N fE 13m/s BEES
= s
N . B Tom/s BEES
- ES BEDRES 1205 RE S D ES5cm
KR HFE2ES 1.5m
=8 BT 1.6m
= ESEFICLYBENTEINDEES
mME
2 o fEE 100m
= e B 500m
7] B/INEE30% T, ERITRE60%
TN
KR ZH . RESKE-4CUT
B BEHICRIESIRICLUT
EK-ES ZLLVEK(EE)DAFREINDEE

(5o R R0 R P R A R TG 2R

e

[100mm

NREREEY AEFEEY OMAShEICLIREBEERLTVET,
2 BHIEAESHDREKMBRFTERANTDIZE T 2SR EHNERKELCINNDREDOTERREEELT. ChICISTERERERKRTIHENHYETS.



